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EXERCISE 11A.2
1 Find the outer surface area of the following-
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EXERCISE 10C.1
1 Calculate the simple interest on a:
a $8500 loan at 6.8% simple interest p.a. for 3 years

b $17250 loan at 7.5% simple interest p.a. for 1 year 3 months.

2 Calculate the total amount to be repaid on a loan of:
a $2250 at 5.7% p.a. simple interest for 5 years
b €5275 at 7.9% p.a. simple interest for 240 days.

3 Find the rate of simple interest per annum charged on a loan if:
a $368 is charged on a $4280 loan over 17 months

b £1152 is charged on an £11750 loan over 3% years.

4 How long will it take to earn:
a €2500 on a loan of €20 000 at 6.7% p.a. simple interest
b £4000 on a loan of £16000 at 8.3% p.a. simple interest?
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EXERCISE 10C.2

1 Calculate the simple interest on a loan of:
a $2000 at a rate of 6% p.a. over 4 years
b £9600 at a rate of 7.3% p.a. over a 17 month period
¢ $30000 at a rate of 6.8% p.a. over a 5 year 4 month period
d €7500 at a rate of 7.6% p.a. over a 278 day period.
2 Which loan charges less simple interest?
£25000 at a rate of 7% p.a. for 4 years or £25000 at a rate of 6.75% p.a. for 4% years
3  What rate of simple interest per annum must be charged if you want to earn:
a $800 after 5 years on $6000 b €1000 after 20 months on €8800?
4 What rate of simple interest per annum would need to be charged

on a loan of £20000 if you wanted to earn £3000 in interest over
2 years?

5 Monique wants to buy a television costing $1500 in 18 months’
time. She has already saved $1300 and deposits this in an account
that pays simple interest. What annual rate of interest must the
account pay to enable the student to reach her target?
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EXERCISE 10D

1

Linda scored 80% in her French test. If she received 60 marks, find the total number of marks possible
for the test.

45% of the students at a school are boys. If there are 279 boys, how many students are at the school?

The legs account for 40% of the total weight of a table. If the legs weigh 16 kg, find the total weight
of the table.

A walker has travelled 9 km along a trail. If he has completed 80% of the trail, how much further does
he still have to go? '

Heidi pays 22% of her monthly income in tax, and spends 5% on petrol. If Heidi pays £1034 each
month in tax, find:

a her monthly income b the amount she spends on petrol each month.
The population of a city has increased by 8% over the last 10 years to 151200. What was the population
10 years ago?
On a hot day a metal rod expands by 1.25% to become 1.263 m long. What was its original length?

Twenty years ago, Maria invested a sum of money. It has increased by 119% to reach a value of $1095.
What was her original investment?
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EXERCISE 10B.2
1 A tennis racquet bought for €95 was then sold for €132. Find the profit as a percentage of the cost
price.
2 A 25 m roll of carpet was bought wholesale for $435. If the whole roll is sold at $32.50 per metre,
find:
a the selling price b the profit
¢ the profit as a percentage of the wholesale (cost) price.
3 Athos bought a crate of apricots for $17.60. There were 11 kg of apricots in the crate. He sold the
apricots in his shop in 1 kilogram bags for $2.85 each.
a How much did 1 kg of apricots cost Athos?
b What was his profit per kilogram?
¢ Find his profit as a percentage of his cost price.
4 A fumniture store has a clearance sale. If a sofa costing €1450
is marked down to €980, find: We are really
calculating the
percentage decrease in
b the loss as a percentage of the cost price. the price!

a the loss made on the sale
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EXERCISE 10G

1 An Olympic sprinter runs 100 m in 10.05 seconds. Calculate his average speed in:
a m/s b km/h
A car travels for 2 h 20 min at an average speed of 65 km/h. Calculate the distance travelled.

How long does it take, in seconds, for a 160 m long train to enter a tunnel when the train is travelling
at 170 km/h?

4 Jane can run 11.4 km in 49 min 37 sec. Calculate her average speed in km/h.
5 Find the time taken, to the nearest second, to:

a drive 280 km at an average speed of 95 km/h
b run 10000 m at an average speed of 11 km/h.

6 Find the distance travelled when:
a walking at an average speed of 3.5 kmv/h for 2 h 15 min

b flying at an average speed of 840 kmv/h for 6 h 35 min.

7 A student walks for 2 hours at 3.5 km/h and then for 1 hour at 2 km/h. Find:

a the total distance walked b the average speed.
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EXERCISE 11A.1

1 Find the surface area of a cube with sides:
a 3cm b 45cm ¢ 9.8 mm

2 Find the surface area of the following rectangular prisms:

b c
42‘“’“‘
m 4 em 40 mm
50 mm.

95m
10em 16 mm

3 Find the surface area of the following triangular prisms:

l ‘ o

- 8cm —» 6 cm




